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Adapted from Mathematical Models, Texas Edition, 2008


image4.png
‘sjurod ot Sunosutons aury v
ABI(] SIXE 2)RUIPIO0I PaTaqe] pue pafeds Aendoidde uo symod e1ep om) o1 014 °q
*9[qe1 Surdurdwoosoe ayy uT uonEwIIOfUI UAIS
S} ZLIBWWINS ‘7 ‘OUIT) WAAIS © Je (SUOT[[IuI ur) uor)
-e[ndod oy syuasaIdar (7)q pue Q66T 2ours s1Lak Jo

Iaquinu ayy syuasaIdaX £ 11 *gOQT ut UOL[I 9¢'g pue
_ 0661 U1 6€° e ‘WOB210) “puefiog o wopendod ayy, e




image5.png
730 suu) ut *(7)g ‘uoneqndod s, puepiod [apowr o) uonenba ue I 3

ZUOTPMIS STI) Ur
1daoreyut dy3 3o Surueow [eanoeld ayp ST IRYA ;2UT O JO ydeotayul- 2up STIRYA P

Juonens
sty ur odofs o jo Supwesw [eonoeid ey ST IBYA AU ST Jo 2dO[s o1y ST JeyM D




image6.png




image7.png
£. Use this linear model to predict the population of Portland in 2020.
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5. In each part, determine the equation of the line for the given information:

a. Two points on the line are (0, 4) and (7, 18). Use the points to first determine the
slope and y-intercept. Then write the equation of the line.

b. The graph has y-intercept (0, 6) and contains the point (2, 1).

6. a. In 1990, the rate of change of the world population was approximately 0.09125 bil-
lion per year (or approximately | million people every four days). The world pop-
ulation was estimated to be 3.3 billion in 1990. Write an equation to model the
population, P (in billions), in terms of ¢, where £ is the number of years since 1990
(t = 0 corresponds to 1990).

b. Use the linear model to predict the world population in 2020,
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d. Use the linear model in part ¢ to estimate the population of California in 1997.

e. Population data from the State of California Department of Finance is used by Cal-
ifornia state agencies in developing their programs and policies. The Department of
Finance estimated that the population of California in 1997 was approximately
33 million. Determine the relative error (as a percent) between your prediction in
part d and the estimate actually used by the state of California.

f. Use the linear model from part ¢ to predict the population of California in 2008.

2 Do you think your prediction in part f will be too high, close, or too low? Explain.




